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O2s0| HNdlH =4 29
200,000& » 1000 & 2,000
MHetF I B & Jl 21,300 19,125 2,175
206 M= Hl 8,700 4,250 4,450
01 M= 4l 8,700 4,250 4,450
OMHHAINT S8 2XI L W2 S
A& 43,5003 * 2000t + 8,700
402 RI2EX20| ™ 12,600 14,875 A2,275
03 BIZ2HCH & A& HI 12,600 14,875 AN2,275
OTLHF At HEFY U Hy|
63,0003 » 2000t 12,600
MBS F 24,400 0 24,400
< 7,320
[ia 17,080
201 Let24d] 24,400 0 24,400
< 7,320
[ia 17,080
01 At 22l 24,400 0 24,400
OALIH A &8 tM2H el 400,000& = 5104 20,400
< 6,120
e 14,280
OMErMUZOl A M=
4,000& = 1,000 4,000
< 1,200
e 2,800
XHoHf CH =4 2t 275,015 249,231 25,784
S 6,600
s 268,415
MHoholeg 2 33,188 31,624 1,564
201 ¢er24l 26,000 25,300 700
01 At 22l 24,000 23,300 700
ONdisS=+ &H Fxz 20,000
OMolole 22 =9 60,000& = 10& 600
OWEE A2Z Mouy 22 M=
500&  2,400% 1,200
OXNATEZA & SFAHE =8N M
20,000& * 40% 800
Ol =EHEEEHSLE M ME
35,000& * 40% 1,400
02 =224l 2,000 2,000 0
Ot HE 3l 1,000,000 =+ 13l 1,000
Ogt=2ot& & 2altl 1,000,000& * 12| 1,000
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03 Al =AY R =& 600 600 0
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o2 4 X 73,000 73,000 0
02 OI=2L o2& = 73,000 73,000 0
02 BIAQITHOHH =R ESEL S 73,000 73,000 0
OMdioe & 57 24 3,000
OMSAIE HHXAS 70,000
S0 2 (XAl) 1,440 1,300 140
201 Let2d] 1,440 1,300 140
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200,000& = 1HA = 128 2,400
-HEAaER 7,000& * 8 + 128 672
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